
DATE:

OR RUBBER?

QTY:

/

/

1 2 3

5/4/16

CUSTOMER:

SLOT SIZE: =

3/4" X 3-1/2"

TOTAL HOLES / SLOTS=  CENTER

3/4" FOR  5/8" BOLT

POLY ?

NOTE : 1/2" SLOT FOR 3/8" BOLTS, 5/8" SLOT FOR 1/2" BOLTS, 3/4" SLOT FOR 5/8" BOLTS, 1" SLOT FOR 3/4" OR 7/8" BOLT

5/8" X 2-1/2"

MANUFACTURER OF PLOW:

SALESMAN:

(USED FOR IDENTIFICATION PURPOSES ONLY)

 SALES ORDER #:

FAX - 937-596-5433

P.O. BOX 757,   901 W. PIKE ST.

JACKSON CENTER, OHIO 45334

1-800-543-6161

TOP PUNCH

5/8" FOR 1/2" BOLT

1/2" X 2-1/2"

ROWS OF HOLES:

BOLT DIA.

(PLEASE CIRCLE ALL THAT APPLY)

SPACING BETWEEN ROWS =

DISTANCE FROM TOP EDGE DOWN TO CENTER OF HOLE OR SLOT, IF NOT CENTERED: = 

HOLE SIZE: =

LACAL PART #

3/4" X 4" 1" X 4" 1" x 4-1/2"

3/4" X 3-1/4"

A

B

C

RUBBER/POLYURETHANE PLOW BLADE SPEC SHEET

A (BLADE LENGTH) =

B (BLADE WIDTH/HEIGHT) = 

C (BLADE THICKNESS) =

= HOLE

= SLOT

PLEASE PROVIDE THE DISTANCE FROM END OF BLADE TO CENTER AT EACH HOLE ( EG: 3", 5-1/2", 12" )

START HERE AT EDGE OF BLADE TO CENTER OF FIRST HOLE

 


